
Príklad 1.  Triedenie nákladov  -  riešenie

výrobné správne zásobovacie odbytové
stredisko stredisko stredisko stredisko

50 1 341 800 447 000 788 800
50 2 40 100 6 100 13 200 13 100 72500
50 5 30 300 29 300 59600
50 341 800 447 000 70 400 6 100 13 200 42 400 920 900
51 6 91 900 91 900
51 7 82 400 15 900 28 400 12 300 139 000
51 8 32 000 32 000
51 9 3 600 45 900 18 700 68 200
51 82 400 51 500 166 200 31000 331 100
52 3 190 000 300 000 200 000 50 000 100 000 40 000 880 000
52 4 72 200 114 000 76 000 19 000 38 000 15 200 334 400
52 262 200 414 000 276 000 69 000 138 000 55 200 1 214 400
55 10 79 600 33 000 26 200 3 400 2 600 1 400 33 600
55 26 200 3 400 2 600 1 400 33 600

604 000 861 000 455 000 130 000 320 000 130 000 2 500 000
zásob. 11 170 000 90 000 25 000 15 000 320 000 20 000 0
odbyt. 12 50 000 100 000 150 000 0

168 000 312 000 480 000
58 000 87 000 145 000

446 000 589 000 455 000 130 000 320 000 130 000
1 050 000 1 450 000 0 0 0 0 2 500 000

210 145

Výrobok B

Druhotné náklady

Náklady / ks

SPOLU

Prvotné náklady

výrobná réžia
správna réžia

druh por.č. Výrobok A


